
Kiddie Kart Gas Build Sheet – Shaller

ITEM QTY DESCRIPTION
150G 2 Bumper Half, KK, 3'' x .360''

172F2 4 D Rubber, 4" New HD 2

175D 1 D Rubber, 6" Front, 2-1 Hole New HD

328 4 4" Flat Plate With Counter Sunk Hole

325B 2 U Plate New Style 4"

326 1 6" Flat Plate, Front, 1-Hole

325 1 U Plate New Style, 6"

259 5 D Rubber, Bushings (Spacer)

174 2 D Rubber, 21-1/2'' Old Style, KK, RK

174E 2 D Rubber, 3" Side Mounting Plate

112LS 2 Aluminum, Step Panel, KK, Low Side SS, Lor R

121G 1 Bellcrank, KK Brake Side

121H 1 Bellcrank, KK Throttle Side

116E 1 Belt Guard,  KK

168BR 1 KK Brake Release

185E 1 Bumper, Front Angle, 1/4", 3- Hole, KK, 25" Long

155C 1 Bumper Strap, Front, For, KK

159 9 Bushings, Brass, 5/8" ID, (Steering, Bellcranks, Brake & Gas Pedals)

125 1 Brake Assembly, With Washer And Arm

130 1 Brake Drum

160B 2 Clevis (1/4'')

178 1 Drive Belt, 840 HTD, Mitsuboshi, KK

359D 2 Fenders, Rear, KK, Each (no rod)

359E 1 Fenders, Rear, KK, Rod Only, 5/8" X 33-1/2"

193A 1 Gas Pedal, New Style Big Pad, SS, KK, RK

297KK 1 Gas Pedal, ROD, KK, 29" L

200B 3 Hub, Front, 1" (with bearings & seals)

205A 1 Hub, Rear, 1" (with bearings & seals)

230C 1 Seat Belt, 2-Point, Safe Strap, Short, KK

662DL 1 Side Panels, KK, New Style Stainless, (Left)

662DR 1 Side Panels, KK, New Style Stainless, (Right)

662CLB Side Panels, KK, New Style, Aluminum, (Left), Black

662CLCY Side Panels, KK, New Style, Aluminum, (Left), Caution Yellow

662CLDB Side Panels, KK, New Style, Aluminum, (Left), Dark Blue

662CLDG Side Panels, KK, New Style, Aluminum, (Left), Dark Green

662CLLB Side Panels, KK, New Style, Aluminum, (Left), Light Blue

662CLLG Side Panels, KK, New Style, Aluminum, (Left), Light Green

662CLMB Side Panels, KK, New Style, Aluminum, (Left), Medium Blue

662CLO Side Panels, KK, New Style, Aluminum, (Left), Orange

662CLP Side Panels, KK, New Style, Aluminum, (Left), Purple

662CLR Side Panels, KK, New Style, Aluminum, (Left), Red

662CLW Side Panels, KK, New Style, Aluminum, (Left), White

662CLY Side Panels, KK, New Style, Aluminum, (Left), Yellow

662CRB Side Panels, KK, New Style, Aluminum, (Right), Black

662CRCY Side Panels, KK, New Style, Aluminum, (Right), Caution Yellow



ITEM QTY DESCRIPTION
662CRDG Side Panels, KK, New Style, Aluminum, (Right), Dark Green

662CRDB Side Panels, KK, New Style, Aluminum, (Right), Dark Blue

662CRLB Side Panels, KK, New Style, Aluminum, (Right), Light Blue

662CRLG Side Panels, KK, New Style, Aluminum, (Right), Light Green

662CRMB Side Panels, KK, New Style, Aluminum, (Right), Medium Blue

662CRO Side Panels, KK, New Style, Aluminum, (Right), Orange

662CRP Side Panels, KK, New Style, Aluminum, (Right), Purple

662CRR Side Panels, KK, New Style, Aluminum, (Right), Red

662CRW Side Panels, KK, New Style, Aluminum, (Right), White

662CRY Side Panels, KK, New Style, Aluminum, (Right), Yellow

269 1 Steering Wheel, H.D.

260A 1 Steering Hub New

275D 1 Steering Shaft New KK (shaft only)

265KK 2 Steering Tie Rod, (no ends) KK, 3/8" X 9-3/4"

305 2 Steering Tie Rod End, Steering, Right Hand, 3/8", EF6

305A 2 Steering Tie Rod End, Steering, Left Hand, 3/8", EFL6

235BB 1 Spindle, Right, 1''

236BB 1 Spindle, Left 1''

240 2 Spring, Return, (throttle or brake)

252 1 Sprocket 80-T, HTD, KK (Non-Coated)

296 1 Throttle End, 1/4"  Female with Stud, Right Hand  (1ea  1/4" Nylok)

296A 1 Throttle End, 1/4" Female with Stud, Left Hand

295B 1 Throttle Rod, 8-1/4" Rod (STW, KK)

468 1 Plates, Serial # (Blank)

215B 1 Motor, Honda GX-160-RT2-RH2, 5.5 HP Std.

219K 1 Muffler Guard, 6.5 HP Silent Muffler, New Style Covers Muffler Only,  EXHAUST CUT OUT - DO 
NOT USE EXHAUST TURN DOWN

622 1 Pull Cord Holder, Carb Mount w/ Hardware, 2 Ea 6MM Coupler Nut, 2 Ea 6MM-1.0 x 16MM, 4 ea 
1/4" FW

251 1 Sprocket 14-T , KK

168SW 1 KK Spacer Washer for 14T Sprocket (8 x 1 3/4 x 7/8)

296A 1 Throttle End, 1/4" Female with Stud, Left Hand

GEARBOX, PARTS TO BUILD

127A 1 KK Chain Connector Link

127B 1 KK Chain Offset Link

162 1 KK Clutch

168G 1 KK Clutch Bushing

168I 1 KK Clutch Key

168J 1 KK Clutch Shaft Extension

168F 1 KK Clutch Springs pr (Red)

163 1 KK Gearbox Chain (w/ Connecting Link)

168N 1 KK Gearbox Custom Dipstick

168LB 1 KK Large Bearing (Output Shaft)

168SB 1 KK Small Bearing (Output Shaft)

243D 2 Shims for Motor Mount 1/2" for GX160 and GX200 Drilled Motor Plates

331C 1 Motor Mount, Bolt Plate, GX200 (No Bolts)

161C 1 Upholstery, Crotch Pad, Driver, New Style

271 1 Upholstery, Steering Wheel Pads



ITEM QTY DESCRIPTION
233BBV Upholstery, Seat Back, KK, (Complete) *BLACK VINYL

233BB Upholstery, Seat Back, KK, (Complete) *BLUE

233BCF Upholstery, Seat Back, KK, (Complete) *CARBON FIBER

233BC Upholstery, Seat Back, KK, (Complete) *CHARCOAL

233BF Upholstery, Seat Back, KK, (Complete) *FUSCHIA

233BG Upholstery, Seat Back, KK, (Complete) *GREEN

233BR Upholstery, Seat Back, KK, (Complete) *RED

232ABV Upholstery, Seat Bottom, KK (Complete) *BLACK VINYL

232AB Upholstery, Seat Bottom, KK (Complete) *BLUE

232ACF Upholstery, Seat Bottom, KK (Complete) *CARBON FIBER

232AC Upholstery, Seat Bottom, KK (Complete) *CHARCOAL

232AF Upholstery, Seat Bottom, KK (Complete) *FUSCHIA

232AG Upholstery, Seat Bottom, KK (Complete) *GREEN

232AR Upholstery, Seat Bottom, KK (Complete) *RED

343ALBV Upholstery, Side Pad, KK, (Complete), LEFT, *BLACK VINYL

343ALB Upholstery, Side Pad, KK, (Complete), LEFT, *BLUE

343ALCF Upholstery, Side Pad, KK, (Complete), LEFT, *CARBON FIBER

343ALC Upholstery, Side Pad, KK, (Complete), LEFT, *CHARCOAL

343ALF Upholstery, Side Pad, KK, (Complete), LEFT, *FUSCHIA

343ALG Upholstery, Side Pad, KK, (Complete), LEFT, *GREEN

343ALR Upholstery, Side Pad, KK, (Complete), LEFT, *RED

343ARBV Upholstery, Side Pad, KK, (Complete), RIGHT, *BLACK VINYL

343ARB Upholstery, Side Pad, KK, (Complete), Right, *BLUE

343ARCF Upholstery, Side Pad, KK, (Complete), RIGHT, *CARBON FIBER

343ARC Upholstery, Side Pad, KK, (Complete), RIGHT, *CHARCOAL

343ARF Upholstery, Side Pad, KK, (Complete), RIGHT, *FUSCHIA

343ARG Upholstery, Side Pad, KK, (Complete), RIGHT, *GREEN

343ARR Upholstery, Side Pad, KK, (Complete), RIGHT, *RED

323HF 4 Wheels, Heavy Duty, Pair, 2-Piece,  Flat with hardware *(Powder Coated Silver)

323HT 4 Wheels, Heavy Duty (Pr.) (2-Piece), Tapered with hardware *(Powder Coated Silver)

299B 4 Trackmaster II Tires

315TR 4 Tube, Trackmaster II 3.40/3.00-5

300HD 4 Tires, ( CST) HD 12x4-5 *(Red Stripe)

315RS 4 Tube, CST 3.40/3.00-5, Rotated 45 Deg. Stem

OPTIONS

554B 1 Aluminum, Floor Plate, KK

****** 1 Fender, Front, Right, KK

****** 1 Fender, Front, Left, KK

641 1 Toggle Switch (On/Off)


